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there is no need to write the outline of any answer 





use marker 

irrelevant quote 

this much intro is enough 
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make heading or chart
of these 
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theoretical perspective?? social learning theory
labelling theory social control theory
social strain theory? conformists rebels innovatc



theoretical perspective?? social learning theory 
labelling theory social control theory
social strain theory? conformists rebels innovators?
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satisfactory


ans is unnecessarily long repetitive of the same or similar points and there is useless explanation 
theoretical perspective of the ans is missing tpp 
not satisfactory 5/20


